
Prüfungsaufgaben Aufgabe 83a 

 

 
 
2.1 

 

Im Dreieck MAS gilt: 
 

            8 cm  
tan α = ------ = 1,3333 ---> α = 53,13° 

            6 cm       
 

 



 
2.2 

 
γ = 180° - (α + φ) = 180° - (53,13° + φ) 

 
sin γ = sin 180° - (α + φ) = sin (α + φ) 

 
Sinussatz im Dreieck AMP: 

 
 AM         MP    

------ = ------ | *sin φ 
sin γ      sin φ    

 

         AM * sin φ   
MP = ------------- 

             sin γ  
 

Im Dreieck AHP gilt: 
 

            HP   
sin α = ---- | *MP 

            MP    
 

HP = MP * sin α 
 



         AM * sin φ                6 cm * sin φ * sin 53,13°    

HP = ------------- * sin α = ------------------------------ 
             sin γ                      sin (180° - (53,13° + φ)) 

 
                      4,8 cm * sin φ 

HP = h(φ) = --------------------- cm 

                    sin (53,13° + φ)  

 

2.3 

 

            BC * AM 
            ---------- * MS 

                  2                    BC * AM *MS      8 cm * 6 cm * 8 cm 
VABCS = ------------------ = ---------------- = ------------------------ 

                      3                         6                           6     
 

VABCS = 64 cm³ 
 

         BC * AM 
         ---------- * h       

64           2                  BC * AM * h 

--- = ---------------- = --------------- | *6 
 3              3                       6   

     
          8 cm * 6 cm * 4,8 cm * sin φ        230,4 * sin φ 

128 = ---------------------------------- = -------------------- cm³ |:230,4 
                     sin (53,13° + φ)              sin (53,13° + φ) 

 
       sin φ 

------------------- = 0,5555 | * sin (53,13° + φ) 
sin (53,13° + φ) 

 
 

sin φ = 0,5556 * sin (53,13° + φ) 
 

sin φ = 0,5556 * (sin 53,13° * cos φ + cos 53,13° * sin φ) 

 
sin φ = 0,5556 * (0,8 * cos φ + 0,6 * sin φ) 

 
sin φ = 0,44 * cos φ + 0,33 * sin φ | :cos φ 

 
tan φ = 0,44 + 0,33 * tan φ | - 0,33 * tan φ 

 
0,67 * tan φ = 0,44 | :0,67 

 
tan φ = 0,6567 --> φ = 33,3° 


